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Time : 2 Hours Total Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet.

BEon amoes o Bwois OMR amrmy HB80s” gopdsd Srusess @sm SsSed.

SECTION—I : MATHEMATICS (rc3% 7°50)

1. lfx=J3+,/3+~/3+---oo then
lfx=J3+ 3+./3+ 00 e

(1) x2-x+3=0 2) x2+x+3=0

@) x2-x-3=0 4) x2+x-3=0

2. log,p 125 +log;o 8 =
. (1) 1 2 2 3) 3 (4) None (96 s)

3. The relation a(b + ¢) = ab + ac is

alb + g = ab + ac es59d Fod THIE' D JoWRTY BPDeB?

(1) commutative law (2) associative law
RBOBG HYPe SESE o0

(3) distributive law . (4) None
DI GOI 08 o0

4. If n is a natural number, then 8" - 3" is always divisible by

n 25D w8 Bive Sopg wowd 8" - 3™ Jenpts 3 prAcHetss
(1) 3 (2) S (3) 8 (4) 11

58
5. If Vx + == = 31, then x =
x

ff+:/5—_§=3l,vw}5x=
x

(1) 529 (2) 933 '(3) 729 (4) 841
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6. If A and B are two sets then (A- BN (B- A) =

A %805 Beo Doty $08588 (A- BN (B- A) =
(1) A (2) B (3) AAB (4)

7. The following Venn-diagram design represented by C equals

2 Aped® C = o)
(1) {1, 2,5, 6 ) 6,5, 4
(3) {4, 5,6, 7 4) {2, 5, 6}
8. The shaded area in the figure is
A B

c
Se00s® 15 Saneds ose
(1) An(BuC() 2) An(BnC)
B) Au(Bn(Q) 4 Au(BuC(C)

9. The remainder of 3x3 - 2x2 + x + 2 when divided by 3x +1is

3x3 -2x2 + x +2% 3x + 13 grRowm Sy e

M 3 @ 3 @ -3 @)
10. If @, B are the roots of 5x2 + 5x + 6 =0, then (1 + ) (1+ ) =

5x2 + 5x + 6 = 0 ooy, Baroeo o, B oo wowss (1+0) (1+P) =

m 2 @ 2 {8 2 @

5 5 5

None (bﬁ svc::)

o

11. If the difference of two numbers is 5 and their product is 84, then the numbers are

Eoméo:psaﬁcscsmeago84um:ba§o%w

{1) 14,6 (2) 12,7 (3) 21, 4 ' 4)

14, 9 -
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12. If the perimeter of a rectangular room is 34 and the length of the diagonal is 13, then the
dimensions of the room are

&5 DB K0 HexS'eb 34 W0a Ko MY 13 wonk e 1D St
(1) 7,6 (2 11,6 3) 12,5 4 12,6

13. If 9x + 11y=51 and 11x + 9y =49, then x =
9x + 11y=51 %8000 11x + 9y =49 wons x=?

(1 -1 2 -2 @ 1 4 2
14. If the pair of equations a;x + by + ¢, = 0and ay x + by + ¢; = 0 has unique solution, then

ayx + by + ¢ = 0 %8050 agx + bay+ ¢y = 0 S¥ere adHh V¥ M Podl

(1) & _b (2) L. h
ﬂ2 b2 a2 b2
@ 22 @ -2
2 02 b2 02
15. The graph of y+ x2 = 0 lies in the quadrants
y+x2 =0Mb@@b&w6‘@emo&?
1) @, Q2 (2) Q2,03 B) Q3,04 4) Q4 O
16. The line x =2017 is
x =2017 3
(1) Slope not defined (2) parallel to y-axis
Ted DO S Y-op8 SAProBto
(3) 1and 2 (4) None
1 So0ai» 2 08 e
17. {6+ J6.+ J6+ o0 =
\
(1 1 2) 2 3 3 @) 4
18. Ifx+l=2, then x2 P
X x2
1 2 1
X+—=2 0o X +—=
X x2
(1 o 2) 2 @) 4 4 8

19. The discriminant of the quadratic equation ax? + bx +c =0 is

Sesdossess ax? + bx +c = 0 D%, Mg =
(1) b2 -4ac (2) a? -4bc

3) 2 —4ab (4) None (08 s%)
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20.

21

22,

26.

- . 5 sl : a B
If o, § are the roots of x“ +2x+5=0 then = + - =
] i

o, oo x* 4 2x + 5= 0 G0, WPSTL - ¢ - o=

6 B .6 , 4
(3} = 2) - [B) == 4 - =
= 5 5 3
Which is the three digit aumber divisible by 772
78 LRt Wit wolv Sop.
a1y 100 2y 133 (31 137 (4) 142

The 6th term 1 the GF 208 22, ... is

GP (femzg) 2, 8, 32, - & 69 ssow

(3t 3512 2y 128 (31 2048 {4, 256

w

i+ 1+ 1+ n erms =

I+ 1+-n Do =

g A N e d ot

iy = . . (3t n (2] e
< s %

i+ 346+ 10475 s =
mfre + lifr o+ o

2 ’ 8
rir + 1jin + 2)

(4) None (23 =)

- ik 21 lies m J1 quadrant ther -k, - 2) lies in the quadrant

s

ool Lol -k -2

o
A Rl e

(1) I (2) 1 (3) Il (4) 1V

The pome of intersection of the lines 2x +3y-5=0 and 3x -4y+ 1=0 lies in which
quadrant?

x4 '39. -

i

= DR/l 3x ~dy+ 1= 0o 2080 Doloy o Fuos® Hewedy

L

(1) 1 (2) 1 (3) 11 {4) IV
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27. (0, 0), (1, 0), (O, —4) are the vertices of a triangle.
e (0, 0), (1, 0), (0, —4) & M ©gomo
(1) equilateral (2) isosceles
90T | SSoBEI
(3) right-angled isosceles (4) right-angled
BeRLlatia gLt wons’es vons'es
28. If (8, 1), (k, —4), (2 - 5) are collinear, then k =
(8, 1), (k, -4), (2 — 5) o TS k =
1y 1 2 2 @ 3 ) 5

29. If the slope of the line through (2 - 7) and (x, 5) is 3 then x =
(2, — 7) 0050 (x, 5) oMo Al Op Dok, Ted 3 wow X =
(1 4 2 5 (3) 6 @ 7

30. The distance between the points (cos6, sin6) and (-sin®, cos®) is
Dossyew (cosH, sinB) Bedais (—sin6, cosb) o By Brse
(1 1 2 V2 (3) 2 (4) 3

31. The number of elements in a triangle is
©Pros® Saruse Sogy
(1) 3 2 4 (3) 6 4 S

32. In the figure
Seost A

B i
if MN||BC, AN =3, NC=18, MB=24, then AM =
MN || BC, AN =3, NC= 18, MB =24 woxd AM =

(1 2 (2) 4 @) 6 @) 8
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33. If two triangles have the same base and area then they lies between

34.

8 470 5200500 PTG BTV PRy, Dot (Dg0eres B+ Bod TWIE® D3 Woged Powron

(1) parallel lines (2) two straight lines

SHPoBE Dpeo Tot 8 Spen
(3) perpendicular lines (4) intersecting lines
vow Open POEH Spew

A 1-5 m tall boy casts 2 m shadow. At the same instance, a lamppost casts a shadow of 10 m.
Then the height of the lamppost is

1'5 m 38y N &8 oo 2 M FEP Mo NS Nty od Soaod® 10 m s Ko N Xied duxd

Bugone JFoB?
(1) 65 m (2) 75 m (3) 85 m (4) None (28 s%%)
35. In the figure, x =
A
55°
x
-80°
B
C
Resod® x =
A
55°
x
80°
B e
(1) 45° (2) 135° (3) 90° (4) 15°
36. In the figure, x = &

$wod® x =
(1) 100°

2) 90° (3) 110° (4) 80°
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37. In the adjacent figure, x =

{1} 58 cm (2) 6'8 cm (3) 48 cm (4) 38 cm

38. The length of the minute hand of a clock is 21 cm. The area swept by the minute hand in
20 minutes is

HAAEPEe6™ DR wey M 21 cm. 20 e M Bwwy SOND 0B FTeF

(2

(1) 462 cm? (2) 362 cm? (3) 562 cm? (4) None (8 m)

39. A secant intersects the circle at point(s).

S0 S PO A Dotoe SIS podisyed

(1) single (2) two (3) three (4) None

2.5 Boty ROL Tt na =X

40. How many tangents can be drawn to a circle from a point outside the circle?

25 Wy Dodoy ool TS AcLey Hudye Sea

(1) 1 2y 2 (3) 3 (4) None (28 )

41. If a sphere, a cylinder and a cone have the same radius and same height, then the ratio of
their curved surface areas is

Rivo, e $o00n Fopoped &8 TIe B0k By YO ol T3 HEve T UiHd

1) 2:4/3:4 2) 4:4:5 (3) 3:45 :4 (4) None (08 =)
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42, The volume of the cone

Fogoy Sol), WVBTLree =
- 1 q
(1) 3 nr2 2 Lar2n 3) nrn 4) 1rr2n
3 2
43. If the diagonal of a cube is 44/3, then the side of the cube is
NDoPoNe i), ¥ 43 vosss T gomo
(1 1 (2) 2 (3) 3 4) 4
44. If the volume of a hemisphere is 19404 cm?> then its radius is
wEiTo ok, Jovstarme 19404 cm® eows o TR
(1) 7 2) 14 (3) 21 (4) 28
45. If x =cos® + sinb and Yy =cosB —sinB, then 5% 4 y2 =
X = c0os0 + sind W y = cos - sind wowss x2 + y2 =
(1) 0 2 1 3) -1 @) 2
46. sin (A + Bjcos(A- B +sin(A- Bcos(A+ B =
(1) sin2A (2) sin2B (3) cos2A (4) cos2B
SPACE FOR ROUGH WORK / 2322 Seraxoleds pes
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47. If sin (A + B) = — and cos (A - B) = —, then ZB=

2 2
. 1 1
sin{A+ B = — 200c50cos (A - Bj = — woas ZB= -
(A+ B 5 (A- B 5
(1) 60° (2) 45° (3) 30° 4) 0°
48. If sin® + cos® = /2 then 0 =
sinB + cosB = /2 eons 6 =
{1} o° (2) 30° (3) 45° (4) 60°
49, 1-tan? 30° _
1+ tan2 30°
1 1 J3
I = By = 3 == 4) 1
(1) - (2) = (3) 2 4) 1
50. cos? 0 -sin? 0 =
(1) cos?28-sin?8 (2) 2cos?6-1 (3) 1-28in26 (4) None (D8 )

51. The angle of elevation of the top of the cliff from a point 300 m from its foot is 60°. Then the
height of the cliff is

25§02 el gPlio wod 300 m & wod Fot D gome 60° & E'red’ WIS Fos M8y

Z. (3) 3003 ay 207

(1) 20043 (2) 7 v
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52. The angle of elevations of the top of a tower from the top and foot of a pole of height 10 m are
30° and 60°. Then the height of the tower is

10 m 8 o Poge 2 grhe Bodoky &b g Mol wbd Ih &5 Semen 30° odctia 60° wuxd e
b 28y Ned?

(1) 5m (2) 10 m (3) 15 m (4) 20 m

53. The set of all possible events is called

RS OO BIOOY nresirarens LT,

(1} event (2) impossible event
Boedis e.azvcps Hoe0

(3) sample space (4) None
LN Boo 8

54. From a deck of 52 cards, a card is drawn at random, then the probability of getting a red king
is

52 5w Ko e DY %y wod Ny T oot o

1 2 3 i
{1) = (2) 15 (3) o (4) None (086 )
55. If P(A) = -14_5 then P(A) =
PiA) = 1 woaw P(A) =
15
19 11 13 ks

56. The probability of getting 53 Fridays in a Leap year is
w8 By Sostywes’ 53 BigTorm oot Vo Jos?

(1) ,f, @) % 3)

2w

(4)

IR

SPACE FOR ROUGH WORK / 2028 Seraxobedd osw
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57. The width of the class in the distribution having class intervals 1-20, 21-40, 41-60 is
1-20, 21-40, 41-60 51D woltres SOAS Jgress $I8E® BONS J&P JoB?

(1) 19 (2) 195 (3) 20 (4) 205
58. The arithmetic mean of the following data is
G (Sob STroo o), wol Sugiioe
Class Interval 0-10 10-20 20-30
BORS wodbo
Frequency S 14 6
TR
(1) 184 (2) 194 (3) 124 4) 154
'59. If mean = 44 and median = 42, then mode =
VOEREE00 = 44 [5o00kn Boggide = 42 w0 Wil =
(1) 34 (2) 36 (3) 38 (4) 40
60. Which of the following is more consistent?
B4 300 T3E° D8 M MNee?
(1) AM (2) Median (3) Mode {4) None
wo¥ Bogeise Soggide RROTEe D8 o

SPACE FOR ROUGH WORK / Q%0328 FeTronoowndd REREY
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SECTION—II : PHYSICS (505 7o)

61. A light ray incidents on a plane mirror at an angle 33°. Then what is the angle of reflection?

¥ 5900 St 33° Frunod’ WioBe Gtesnd SEEA, HTHTNe 08D Tod e Sese -

(1) 66° (2) 33° @) 220 @ 11°

62. Which of the following is used by the dentists?

B4 [Bod TIE® “2s0B Py ERBPAODO

(1) Convex lens (2) Concave lens
K057 KesSo TS Koo

(3) Convex mirror (4) Concave mirror
0T S55ye950 L DS Styeesas

63. Which of the following is true in case of virtual image?

Qogrg $SDow Disgies® e God TWIE® DB ¥OTHO?

(1) Always erect (2) Always inverted
PORPET ARV QHpET BoFolarn -

(3) Obtained on screen (4) None of the above
BB 90305555 08

64. An object placed at a distance of 30 cm in front of a concave mirror of focal length 20 ¢cm. The
image is formed at a distance of

20 0.0, TV Ko HIPTE S50 S 30 0., SFUeE” BRIPR EodN, DHEDow SR8

(1) 60 cm (2) -60cm (3) 30 cm (4) -30 cm
60 2o.2. —60 290.20. 30 .. -30 wo.o.

65. Every lens has focal points.

B 50508 ol BT TEoe Nopg

(1) one (2) two (3) three (4) infinite
2563 ol [T eodo

SPACE FOR ROUGH WORK / 2%5%08 Serasonds PORR
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66. The radii curvatures of a double convex lens are 10 cm and 10 cm. Its refractive index is 1-5.

The focal length is

&8 SO0y Selin ey, SET v@vcgm 10 %e.0o. So8atw 10 e.sw. o0 ‘;&.‘\S@t‘_b foeaEsn 1-5 mow

Beolos Glool), TPRoliing

(1) 10 cm 2) 01 cm (3) 001 cm (4} zero
10 e.ie. 01 wo.20. 0:01 e.20. Sty

67. An object is placed 10 cm from a converging lens of focal length 10 cm. The image is formed

at a distance of

10 %o.%. TpReBto Mo n¥ Sodson Sofin wed 10 Bo.do. srosnE® ¥ Siipie dols Nod

=S le Tt
(1) 10 cm (2) 20 cm {3) 100 cm (4) o
10 oo, 20 wo.oo. 100 oo, &

68. A convex lens is placed in water. The focal length will

25 WoPE STy VAE Sl Kl Cny), TgostE

(1) remain same (2) decrease
PebeTatl Shadocl

(3) increase (4) None of the above
HESed FREE)

Y
wolcw

69. A light ray incident on curved surface travelling from rarer medium to denser medium bends

the normal.

DEBCTRD BBIAN ToOIVEIBD BT ATITo Wod JoBy AIrHEes’Id Bairedttnid vow
doTve Fotodood.

{1} towards (2} away from (3) parallel to (4) None
ST BB SaroByorT 08 T

70. Which part of human eye is called ‘variable aperture’?
SPURR B0’ A2D “IaolBed mrER! wouix?

(1) Retina (2) Cornea (3) Pupil (4) Lens
Bede poNevey B0 LAY

SPACE FOR ROUGH WORK / %023 Berooiwds PTDR
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71. In case of eye defect called ‘myopia’ image forms

SRR & RS NenE® Eofontn Dot BN

- e

(1) after retina 2} before retina
B3 wndd gerest B Besoly gries’
(3) on retina (4} Nome of the above
el Do B0 Y

72. In prism experiment, the i-d curve looks like

&5 Se¥ow BATned” i-d HiFs I Lo cowosd

(1) straight line (2) circle
8oy Qe

(3) parabola {4) ellipse
SovHTae 55 sene

A et

f

73. The splitting of white light into different colours is called

Dol Tod 2Py Corbeom JENSK HEI LOLTD.

{1} dispersion (2] scattering
TR SEFeR

{3) refraction (4) reflection
sdgsse SO0

74. Which of the following molecules in atmosphere are responsible for blue colour of sky?
TSRS B 300 D wewipo DR umEs BT toind® docood?

(1) He Clg (2) He, H, (3} CO, SO, (4) N, O,

75. Light is a/an

ol o

(1) longitudinal wave (2} stationary wave
Ry ¢ Bueile w Boshie

{3) electromagnetic wave {4) None of the above
2BogLOIm D Bioke o8 moo

SPACE FOR ROUGH WORK / Q80833 Berononndo RS
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76. Which of the following is true for conductor-like metals according to Lorentz-Drude theory?

S0k Tbain EPE BodEte @ETve SN Sod TTed® S @od T3S DA $OENE?

(1)

(3)

77. The SI unit of potential difference is

Fogond So By, SI BareEw -

(1)

(3)

78. In case of non-ohmic materials, the V-I graph is

W-E00h JITFOL Sowelod, V-1 Y

(1)

3)

79. The resistance of conductor depends on

W3 TRIENY G0N, 26‘-:;*&» _

(1)

(3)

Negative ions are fixed

2R ORI 1’350?? SO0

Positive ions are fixed

L2000 LOTINILY BT GoiTo
k)

coulomb

- £
reoow

ampere
wonohE

j

i

——3

V—=>

length
D

temperature

a@@a

(2)

(@)

(2)

(4)

(2)

(4)

ROl LtEd dowosd,

(2)

(4)

Positive ions move
& oo BhnPa

None of the above
06w

volt

&

Nene of the above

I
VAl Llatt

v—
7!
r
i I
i |
S| S—
V—>

cross sectional area
Sophs PP

All of the above

20 e
o 2

SPACE FOR ROUGH WORK / 205028 Suroaoumdd s
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80. Two resistors are connected in

™ 5055, Sots e o o

(1)

1

series (2

B3’

(3) series and parallel

B3&® Bodamn Sarostem

81.
If the current through the

2 L5, 3 8 Bodciw R L5

1 esodaisd o ERlrodn R Swl, Susd B0,

(1) 5 2) 10

82. Apply Kirchhoff’s junction law and find i value

Bob DR’ 3BT ozt i

. Then same current flows through two resistors,

wiia . ESRLL
SO0 RO

peratlel

Cint iy B -
NP ST

Nenie of the above

"Ny
o) T

Three resistors, 2 obm, 3 ohm and R ohm are connected in series to a battery of voltage 20 V.
circuit is 1 ampere, then the value of #is __

- ohm.

2esbeo o Sarss e B 20 V FEa ro wrgeodd D Soched®

of the following figure

VOSAG) GRAPAe a7 Teoie Soltistor -

- s'l‘ =, 1 e
\LJ /f

~

A =i A

S~ T
- ')':‘\
=0 A ,// S
~,

£ 10 A
(1) 19 A (2} SA (37 2A 4 1A
83. Which of the following is correct regarding electrici.?
:&;‘335553 Sowofod B: 300 ISt Lo SSSOAY
: p2 * 2
i1y P=-— 2 Peie X PR i1, ViR
1) 3 ] :
B (2 R {3

2017-S2/2-A



84, The magnetic field is called uniform if

QAU FBEw ke I0S™ Gowdod

(1) strength and direction of magnetic field are changing
OB FH weNw WO OF BREBIYSHE

{2) strength and direction of magnetic field are constant
BOT,0D FB weBw WOCKY B%F [T &t

(3) only magnetic field strength is constant
TH0B0 a0 FE LU HEROTT &yt

(4) only direction of magnetic field is constant

oot wolodmes F® 0% Joom Enetd

85. Which of the following equations is correct in electromagnetism?

DO, EBFNVI Sowopod T+ Bod THIE' O NOGWHO?

F= gBsin®

[y F=-22 2) (3) F =quBsin® (4) F=quBcos®

86. In which of the following electric energy is converted into mechanical energy?

B 300 TI6° oG 33D PO BET DB BE?

v

(1) Galvanometer (2) Ammeter
o et @Rt

{3) Generator {4) Electric motor
25002t DS BT

SPACE FOR ROUGH WORK / 23303 Suronotndd geise
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87. Whenever there is continuous change of magnetic flux linked with closed coil, a current is

88.

89.

90.

generated in coil. This is

ONsogs® waiImon LPTrise oL HIRP Goi & Sfoes® DX Eoimsn Dnmssed. ¢

(1) Lenz’s law (2) Ampere’s law
Bof owson 30008 DB
(3) Faraday’s law (4) Ohm’s law
DOE Darnona £.50 Dogosos

A conductor of length 1 m moving with velocity V perpendicular to the magnetic field of
strength 10 tesla induces an e.m.f. of 10 volt. Then V= m/s

28 et FEP o TEKE 10 DY ochdes FB 0ol conem VP Smsas’ 5008 10 Lo duaones
2B (H0880S V= m/s

(1) 100 2) 10 3) 1 4) o1

The peak value of alternative current is 2 ampere. The r.m.s. value of current is

ampere.
DsveBls 35.:35 a0 GBox), HOK, Jeos 2 esodhod wowsd r.m.s. :Jcbﬁ e esohonsbeoo.
\ 1 1
1) V2 2) 242 3) — 4 ——
(1) 2) (3) 5 (4) 2
Magnetic flux density (B) =
WOHRM,0S whTur FoEs (B) =
(1) Area @) Length
Magnetic flux Magnetic flux
WOLMOS LHTTED WOPOD LPTEFED
3) Magnetic flux @) Magnetic flux
Length Area
SOLMOB TS QWOLIOB WPTETE0
) 2TV
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91.

92.

93.

94.

95.

SECTION—III : CHEMISTRY (535S E“gc)
Which of the following reactions is exothermic reaction?
T+ (8od VRS’ N0 SHATDY B2
(1) C+05 —»COy (2) No +0, —2NO

(3) 2AgCl -2Ag+Cl, (4) Zn+2HCI - ZnCl, +H,

Gram-molar volume is equal to

IiSo Ired Poniarme 300 w36 A28 ShasE?

(1) 20 litres (2) 224 litres (3) 224 litres (4) 112 litres
20 b. 2:24 &, 22:4 &, 112 &,

In the reaction Na + H,O —- NaOH+H, T, how many moles of Na and H5O react together
io form NaOH and H,?

Na + Hy0 — NaOH + Hy T 56;6° Na 0050 HyO 3y 3r8y8* ioeran?

{1 2,2 2 2,1 ' 3 1,1 4 1,2

Phenolphthalein indicator gets pink colour in

2dE B0y 308 DS oD SolhE® dotaod

(1) HCI solution (2) NaOH solution
HCI gesesso NaOH @wseans

(3) H,SO, solution (4) CHZCOOH solution
H,S0, E¥aeis CH3;COOH sess

HCI solution with Na,CO3; and NaHCO; produces

Na,CO3 %o8cso NaHCOze% HCI it a:0fsisys 3od T%36° D8 Stytoteod?

(1) H, gas (2) NaH (Sodium hydride)
H, Srous NaH (dawo p@é)
(3) HyCOj3 (4) CO, gas
CO, To%o)

SPACE FOR ROUGH WORK / 260803 Suroxonesds PeRd



96. Milk of magnesia is

208, e Wlghair wod

(1) MgO (2) Mg(OH), (3) MgCl, (4) MgHCOgz),

97. Which of the following quantum numbers describes the orientation of orbital in space around

8.

99,

the nucleus of atom?
Bod T3E° D e Yopg (RS OAFTIR M8 JN0HeD?

(1) Magnetic quantum number
QOB Thewad doPg

(2) Spin quantum number
e ThowRd N0

(3) Azimuthal quantum number
Shela> g Sl Sogg

(4) Principal quantum number
B5% Towas Segs

The maximum number of electrons in n =3 main energy level given as
B SRy Seggn =3 &° rogem™ doigy Sogg

(1) 8 2) 16 3) 18 4) 32

Modern periodic law states that the properties of elements are functions of their

eSE0DE eHTD BN ETTH0 WFOKO GO, TR HOW Bons® Se38 esved [Sdookreo

(1) atomic weights (2) atomic number
BErE ES0R ST Sowg

(3) electronic configurations (4) Both (2) and (3)
SoERE Jrgse (2) %0805 (3) ¥8%

100. Which of the following is the p-block element?

Bod T3S’ DO prf Baressn?

(1) Ti (2) Ce (3) Ga 4 K
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101. How many s-block elements and p-block elements are there in the third period of the
periodic table?

e 96D Soresd HOAHES® I sepf Wodans pE BareTes ¥oH?

(1) 2,8 (2) 8, 2 3) 4,4 4 2,6

102. Metalloids are

eyEey Wil

(1} s-block elements (2) d-block elements
s Boresren d-3§ Soremen

(3) f-block elements (4) p-block elements
S8 Soroseen D38 Borosed

103. The ionization energy in the periodic table

edE S5 BareTe wdlIse 4

(1) decreases go down the group
(oE* 3083 el 58 BiBIcd

(2) increases go down the group
(15E° 3003 Ak §'8 HooKBed

(3) decreases from left to right in a period
SOAHEE® o Bood HES BIHBocd

(4) remains same go down the group

HrHE® Qoo Goeved

104. Which of the following elements lose three valence electrons to get octet in its outer shell?
800 Tu36°® B Baresse 3 dogoois %o B Wiy K5tes® wigs AALEEY FoXotod?

(1) Cs 2) Mg 3) O . 4) Al

105. The element with negative charge having the electronic configuration 2, 8, 8 is

Bod T%36° DogdE Do 2, 8, 8 KOAD oo et &y HareNsw DO

(1) 0%" ) C1- (3) s2° 4) P3-
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106. The condition for the formation of ionic bond is
APE woiie Dhtiko Bod D woton SFWNEBOD?

(1) elements involved should be of equal size
&3 SUNreR $SOATE0 YORN Barese Bagy

(2) high electropositivity of atoms
[ars] W XOAS WoroTen

(3) atoms should have low ionization potential
BED NS $§ BareTes SOR Pood

(4) elements with high electronegativity difference

Borese B M BrNSEENs o SOA Pood

107. The molecule involves sp® hybridization is
800 Tx36° sp3 085 ety SORS wrp DO

(1) CH,4 (2) NHj 3) H,0 (4) Al (od00m)

108. lonic compounds are soluble in
300 Tx36* E26° eaurdE eruipen KorTro?

(1) benzene (2) CCl, (3) kerosene (4) water
Boddd 30008 Do

109. Carnallite is the ore of
THBS FBIP 308 THIET D Barenn wod Solironeitod
(1) Pb (2) Mg (3) Hg 4) Zn

110. Thermite reaction invblves reaction of metal oxide with
BonS W0g N B’ N Saresnd’ e ytw 3¢ Mowmon
(1) Ag (2) Fe (3) Al (4) Hg

111. How many unpaired electrons the carbon atom possess in the ground state?
FrPonE” IS iy K06’ I 1w JoFioed doean?
(1) 2 2 3 3) 4 @ 1
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112. The bond angle in C,H, molecule is
CoHy wrwpé® wogSieo
(1) 109°28’ (2) 120° (3) 180° (4) 107°

113. Esters are derivatives of

Jg6es Bod T3S IS SdTHes

(1) ketones (2) alcohols
45550 ese)fesen

(3) ethers {4) carboxylic acids
Babes Ton3y08 estires

114. The name of the structure CH;—CH=CH=CH, is

CH3;—CH=CH=CH, &+ $35¥%0 3%

(1) butene (2) buta-1,2-diene
QRIS wPer-1,2-GoorR

(3) butadiene (4) 1,3-butadiene
DRLTTOTR 1, 3-nPergoars

115. Which of the following organic compounds undergoes substitution reaction?

@od TI6° O By oS ETFIe 95:8° PSoewed?

{1) Alkanes (2) Alkenes
esB) 000 esby o0
(3) Alkynes (4) Al
0 o (Saallerthy

116. When dilute hydrochloric acid is added to iron fillings
deo WPES0E esSDRd Fontessss 5003 Do atioibisied?

(1) hydrogen gas and iron chloride are formed
255 §BE Vs, IpERS o Deosttoed

(2) chlorine gas and iron hydronide are formed
268 IPEB B K, $08 TanuD Jevscuod

(3) no reaction takes place
oereed WO wOn&

(4) iron salt and water are produced
DUS eHee 500050 D> DR
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117. pH scale is introduced by
pH 80 @$53528% T8

(1) Sorensen (2) Mosley
ABTSS EUE

(3) Schrédinger (4) C. V. Raman
Rbcond B, Q. o0

118. Which principle states that “No two electrons of the same atom can have all the four | _
quantum numbers the same”? ‘

28 SESPERDER D Botis JoEs 4 TiowSs Bopwy BATIOK SoBEd BOALR Y IO ...

(1) Pauli’s (2) Aufbau
>0 esHd

(3) Hund’s (4) Bohr’s
:moﬁr:, 25*5

119. The coordination number of Na* in NaCl is

NaCl %ot Na™ S50 Sozg ‘

(1) 3 2 4 @) 5 (4) 6

120. Who proved that ‘ital force theory’ is not correct?

F5%3 DIroBo B METROVITUS
- (=]

(1) Berzelius (2) Linus Pauling
200 TS Peh
(3) Wohler (4) Dalton
Feb =N
* * K
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